A 60.0 mL sample of 0.10 M HCl(aq) is titrated with 0.10 M NaOH(aq). The pH of the resulting solution is measured
with a pH meter and graphed as a function of the volume of the titrant added.
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The diagram labeled as "A" below represents a particulate representation of a small representative portion of the
solution at point A of the pH curve shown above. For clarity, water molecules are not shown.

Use the symbols shown in the Key above to draw particulate representations of the solution at points B, C, and D of
the pH curve shown above.




A 60.0 mL sample of 0.10 M HC,H302(aq) is titrated with 0.10 M NaOH(aq). The pH of the resulting solution is
measured with a pH meter and graphed as a function of the volume of the titrant added.
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The diagram labeled as "A" below represents a particulate representation of a small representative portion of the
solution at point A of the pH curve shown above. For clarity, water molecules are not shown.

Use the symbols shown in the Key above to draw particulate representations of the solution at points B, C, D, E, and F
of the pH curve shown above.




A 60.0 mL sample of 0.10 M NaOH(aq) is titrated with 0.10 M HCl(aq). The pH of the resulting solution is measured
with a pH meter and graphed as a function of the volume of the titrant added.
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The diagram labeled as "A" below represents a particulate representation of a small representative portion of the
solution at point A of the pH curve shown above. For clarity, water molecules are not shown.

Use the symbols shown in the Key above to draw particulate representations of the solution at points B, C, and D of
the pH curve shown above.




A 60.0 mL sample of 0.10 M NHs(aq) is titrated with 0.10 M HCI(aq). The pH of the resulting solution is measured
with a pH meter and graphed as a function of the volume of the titrant added.
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The diagram labeled as "A" below represents a particulate representation of a small representative portion of the
solution at point A of the pH curve shown above. For clarity, water molecules are not shown.

Use the symbols shown in the Key above to draw particulate representations of the solution at points B, C, D, E, and F
of the pH curve shown above.
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